W+ = FEEEZENA

F5 4 A= FEHE (MWe) FF L5t g
1 AR ST ACPR1000 1119 2015/7/24
2 W7 s 3 = HPR1000 1180 2015/12/24
3 W7 s 4 = HPR1000 1180 2016/12/23
4 EH 15 CFR600 600 2017/12/29
5 EAMRE 1= CAP1400 1534 -

6 EMN1F HPR1000 1212 2019/10/16
7 B fiR 3 2 = CAP1400 1534 -

8 AP 15 HPR1000 1202 2019/12/26
9 BN 25 HPR1000 1212 2020/9/4

10 AT 25 HPR1000 1202 2020/10/15
11 EH25 CFR600 600 2020/12/27
12 —H15 HPR1000 1210 2020/12/31
13 135 HPR1000 1200 2021/3/31
14 HE 75 VVER-1200/V491 1274 2021/5/19
15 EVL/NHETRTE T2 ACP100 125 2021/7/13
16 BAE3 S VVER-1200/V491 1274 2021/7/27
17 B 45 HPR1000 1200 2021/12/28
18 ZHE2 5 HPR1000 1210 2021/12/30
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